I 12 TO ORDER: 405-235-2184 OR 800-727-6642 OR HAGARPARTS.COM



KEY PART#

10
11
12
13
14

15

16

17
18

19

20

21
22
23
24
n/s
n/s
n/s

RU0011115
RU0011154
RU0011162

RU0020578
RU0020577
RU0020453
RU0021065
RU0021090
RU7000122
RU7000123
RU0010145
RU0010146
RU7000124
RU7000147
RU7000125
RU7000126
RU7000127
RU7000447
RU4050210
RU4050209
RU0700451
RU0700463
RU0700453
RU0700437
RU0400258
RU7000130
RU2180145
RU2100230
RU0503069
RU0503178
RU7000131
RU7000132
RU0021055
RU0021072
RU0021092
RU0503174
RU0503177
RU0503182
RU2130102
RU2130103
RU0800106
RU0800109
RU7000133
RU0020964
RU0800219
RU0501569
RU2100170
RU0503096
RU2090101

DESCRIPTION

Top Cover Assembly, DFW Series
(incl. items #2, 3 & 4)

Top Cover Assembly, DFWT Series
(incl. items #2, 3 & 4)

Top Cover Assembly, DFWT Special Model
(incl. items #2, 3 & 4)

Top Cover Shell, DFW Series

Top Cover Shell, DFWT Series

Top Cover Shell, DFWT Special Model

Top Cover Liner, DFW Series

Top Cover Liner, DFWT Series

Gasket, Top Cover, DFW Series

Gasket, Top Cover, DFWT Series

Spray Tube Assembly, DFW

Spray Tube Assembly, DFWT

Steam Generator, DFW, 120 VAC

Steam Generator, DFW, 120 VAC (special 1500W)

Steam Generator, DFW, 230 VAC

Steam Generator, DFWT, 120 VAC

Steam Generator, DFWT, 230 VAC

Steam Generator Tube

Thermistor (Manual Models)

Thermocouple (Timer Models)

Power Cord, 14/3 5-20P, 120 VAC

Power Cord, 14/3 5-15P, 120 VAC

Power Cord, CEE 7/7, 230 VAC

Power Cord, IEC-309, 230 VAC

Strain Relief

Leg Kit (incl. items #12 & 13)

Cover, Leg

Leg, 1"

Base Plate, DFW Series

Base Plate, DFWT Series

Insulation Kit, DFW

Insulation Kit. DFWT

Main Housing, DFW Series

Main Housing, DFWT Series

Main Housing, DFWT Special Model

Generator Retainer

Diffuser Pan, DFW Series

Diffuser Pan

Perforated Pan, DFW Series

Perforated Pan, DFWT Series

Trivet, DFW Series, 11"x8-3/4"

Trivet, DFWT Series, 12"'x11"

Handle Kit (incl. item #22)

Handle Bracket Cover

Top Cover Hinge Pan

Top Cover Hinge Base

Water Tank Knob

Access Cover Assembly

Water Line Filter (NLA)

RU7000134
Kl RU4010166
ol RU4010151

RU4010137
KYAl RU4070033
iUl RU4010183
L/ RU7000652
LYl RU7000135
74 RU7000136
LR RU100P967
Ll RU7000142
Ll RU2040114
Ly RU2000188
LR RU2040103
LYl RU4040145
U RU7000138
RU0010159
RU0010584
RU7000139

RU308P104
RU211P127
RU325P109
RU325P154
RU325P104
RU308P103
RU308P164
RU308P132
RU306P123
RU308P124
RU308P143
RU306P101
RU300P102
RU306P130
RU306P104
RU306P106

<COUErrXxXcCcIOmMMmOO W

TO ORDER: 405-235-2184 OR 800-727-6642 OR HAGARPARTS.COM

DESCRIPTION

Silicone Tube Kit (incl. 2 Tubes)

Operate Switch

Power Switch, 120 VAC

Power Switch, 230 VAC

Control Board, Manual Models (for S/N 0705-0710)
Transformer

Solid State Relay

Hi-Limit Thermostat

Terminal Block Kit (incl. item #43)
Marking Label

Outlet Tube Kit (incl. items #46, 47 & 48)
Female Elbow, 1/4" Tube

Outlet Tube

Male Connector, 1/4" Tube

Solenoid

Quick Disconnect Body & Plate

Filter Assembly, Water Tank

Inlet Hose Assembly

Quick Disconnect Kit

Note: Following items available in pkgs. of 10
Screw, #8-32x3/8", Stainless Steel
Retaining Ring

Hex Screw

Lock Washer

Flat Washer

Screw, #8-32x1/4", Stainless Steel

Screw, #8-32x1", Stainless Steel

Screw, #8-32x3/4" Flat, Stainless Steel
Screw, #6-32x7/8", Stainless Steel

Screw, #8-32x1/2", 1-Way, Stainless Steel
Hex Nut, #8-32 “KEPS”

Hex Nut, #6-32, Stainless Steel

“U” Type Tinnerman

Hex Nut, #6-32 “KEPS”

Screw, #6-32x1/4", Stainless Steel
Spotweld Nut, #6-32

113



